TPoTvera 4

@E[A):“_é‘fl-_l_— i,

e e =
(s = X -'{
i /M 9) % a2 € ’lx:Z“/fo(“f?{«do

i) o 2 e
fz& > D IWSESraTo.

OVia)=v _f_&}-/—\/é WiOET ot
2w in e £ Hn2 4

4

ew G2, - 2 /«"’WQ b= [x2 X = z
?7 2/4\ F.“Z e il /r/),('ﬁ«b(Tio/qz-[Z«)tth

2o at
V(#)-= T e

Gk de. Ceavmer- Rowo T«Af«\ e<hunefoes T"\sc:>>o~/(asz

A
NE 9l 6“"]1
Qon

ll&!&,«): baxs 2 lha = —j:

Q\,\l\ C e 2 O X=Zen
O SR Az
2= 2
E X-—Z"\ = _L ,E(X-&)z = 2&. = 2
a a4 6—2-2 5 qq 0‘2
{ at
CR- =
Gk G s 2
42.

V(x) = Gh~ CR 2 A e> ERCENTE



7ot
OV(?) v(lz>=—évcz).-i D
T 5 5 LE:
G“":5f(l—1>)

(h do Cavvnse-Rons T ¢ Shwadocs 'ms:j,(ds:
{

ng ol ftgp) 5
il
f(f,r): (2) fx(l— T)ﬁ-x
Indee )= ¢ )»,x\.nr F(B-o =)

o B = e
M) 4'? " pH-7)

SPU-T)
:(—-5 1 57] T’z(f'?)z
U _\ 7T) s*

57(4'F>
=R

(e de C’fz“w : e

TU-P

A ZN.—.
V(?% Gk CR B P = EF\C\ENTE

o

" p(4-7)



TROBLEMA Y

O s=s0avE 2 7

Epe ke / Z.’;e-?"m o

o Yoo £x)=8 > nsesorpo
(® cFcENUA T
Ga28-6=5 0

74
V(%)= %

GYe de Cotvee—Fow T»«A oetmmlons iugw(b:
1
E[g%f)]
]Z@Q}-ée 'ﬂlx
w’&/ﬂ)a ~ln @*éx

QW) 1, x, £
e Gy e

0__1_ 2
¢
n-;?_ .

V(z)s Gh de (R K e> ZRUZATE



() (NHSTENAA

X e 1«/\9(3./(0
? X es ONSSTEANE .

L

TRBLEA B

(A') X e '\’\QCBVQ
) X €S GASISTEANTE

\/(X)—‘-%,’*a ;—_;15 o

nn-a,o

& = —_
(B) E(=")-0% %Z o> T —s O > ASINDTIANZNIE TINS5 T
S%e awsisTEms

V(=*) = e
TRBEA &
Lo %/WL a(e TJENLJJ\C(M( w:._s,w“)% 0@& e <o [a %zwt ﬁg&

veasius liovd > s
L 64— p)* L
eomi oL R A G
e~ e :

L S 0a)
o] e

'\}%mltqwos ele —poeste o € -

Sl Sasant o, 20 - Taiipt are
2t n(p2u%)



5 b /Lm
veﬁm.o

x) / '4
b 3] -
st ;{e
€ | @L
. )= lz ZQ 1C
(7//}\ ; (,awz)%
6 : Ars
: [
it e
/ ¥ S S
‘7‘)“‘5 /‘
é)"\ e

W
Ls 7(0

O

A

7 AN

VY SO

) - H(X)
X
C><7*~>=5(

i




